Contraste 
CVCV		vs.	CVCVn
Cambiando el C2

Find possible words that have the same tonal pattern as the nasalized form.


C2=s
a4su3	
ka3sun2
	
sa4si2		
ya1sin4

si13su2
li4sun1

ka3si4
ya1sin4

C2=ch
ku14chu2
ku1chun1

chi4chi3
chi3chin4


C2=x
xa3xa4
xa14xan4

nda3xa2
nda4xan4


xu4xa3
xu4xan3

ndu1xa1
ndu3xan3

ka4xi3
ka4xin3

ta3xi3
ta3xi4
ta1xi4
ta1xin1


bi1xi1
bi1xin1
cf. bi4xi1
cf. bi1xin3

ki3xi3
ki3xin4

ndi13xi2
ndi3xi4
ndi1xin4

xi3xi2
xi4xi1
xi4xi3
xi1xin4

ndu13xi2
ndu3xi4
ndu1xin1


C2=t
si3ti2
xi1tin1


su1tu1
su3tun4

tu3tu4
tu3tun4

ta3ta4
ta4tan4

ya3ta4
ya3tan3

xi4tu3
xi4tun1

ka3ti4
ta1tin4
xa14tu3
xa14tun4

xa1tu1
xa1tun4


C2=k
si4ki4
si4kin4

ndi3ki4
ndi3kin4

tiu1ku4
tiu1kun4

su3ku4
su1kun4

sa3ka4
sa3kan4

chi3kun2
ti4ku2

xa4ku3
ya3kun2


xa3ki4
xa4kin2

ta1kwi42
ya3kwin4


C2=kw
NO HAY

